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QUESTION 1
The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of

resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement.

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column

C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column.

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

Correct Answer: C

QUESTION 2

To reduce the subassembly stock with no impact on material planning of child components of the
subassemblies stock, you need to modify the multilevel item structure of a product.

Identify the action that meets this requirement.

A. Change the Supply Type = Push in Item definition and Work Definition, for subassemblies having high inventory
stock.

B. Change the Supply Type = Phantom in Item definition and Work Definition, for subassemblies having high inventory
stock.

C. Change the Supply Type = Assembly Pull in Item definition and Work Definition, for subassemblies having high
inventory stock.

D. Change the Supply Type = Operation Pull in Item definition and Work Definition, for subassemblies having high
inventory stock.

Correct Answer: C

QUESTION 3
An order entry specialist creates a Back-to-Back order for product item with an intention of fulfilling by in-
house manufacturing. The fulfillment line is scheduled and Supply Chain Orchestration (SCO) has initiated

creation of a Supply Order rather than Work Order.
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Identify two options that can cause this situation.

A. Sourcing rules for the product item are defined as Make as well as Transfer.

B. Sourcing rule for the product item is defined as Make, but Work Definition is not defined.
C. Sourcing rules for the product item are defined as Buy as well as Transfer.

D. Sourcing rule for the product item is defined as Buy.

Correct Answer: AB

QUESTION 4

In a manufacturing cloud implementation, production operators want to perform work order updates using
Dispatch List.

Identify two tasks that the Dispatch List allows the production users to perform.

A. Report Component Returns

B. Report Resource Transactions

C. Report Receipts

D. Report Material Transactions by Quantity and Serial Number

E. Report Cost Transactions

Correct Answer: BD

QUESTION 5

A production operator needs to review the materials issued, resources charged, and operations performed for a job that
was executed in the previous shift. Identify the task the operator has to select to review all the transactions in a single
place for both Work Order and Orderless execution.

A. Manage Work Orders

B. Review Dispatch List

C. Report Resource, Material and Operation Transactions

D. Review Production Transaction History

Correct Answer: A
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